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<figure class="md-table-fig" cid="n36" mdtype="table"> <table class="md-table"> <thead>

tr class="md-end-block" cid="n37" mdtype="table row"><th><span class="td-span” cid="n
8" mdtype="table cell"><span md-inline="plain" class="md-plain">7j%</span> </span> </
h><th><span class="td-span" cid="n39" mdtype="table cell"><span md-inline="plain" clas
="md-plain">FGiEHiR </span> </span> </th> </tr> < /thead > <tbody> <tr class="md-end-blo
k" cid="n40" mdtype="table row"><td> <span class="td-span" cid="n41" mdtype="table cel
"> <span md-inline="code" spellcheck="false"><code>boolean empty()</code></span></s
an> </td><td> <span class="td-span" cid="n42" mdtype="table cell"><span md-inline="pla
n" class="md-plain">MIHHEEXREETHNZT. </span></span></td></tr><tr class="md-end-bloc
" cid="n43" mdtype="table row"> <td> <span class="td-span" cid="n44" mdtype="table cell
><span md-inline="code" spellcheck="false"> <code>Object peek()</code></span></span
</td><td> <span class="td-span" cid="n45" mdtype="table cell"><span md-inline="plain" c
ass="md-plain">EEHERINTAINIR, ERNERFIRE. </span></span></td></tr><tr cl
ss="md-end-block" cid="n46" mdtype="table row"> <td> <span class="td-span" cid="n47"

dtype="table _cell"><span md-inline="code" spellcheck="false"><code>Object pop()</code

R0 SRS 1%


https://ld246.com/article/1587453059662

</span></span></td><td><span class="td-span" cid="n48" mdtype="table cell"><span
d-inline="plain" class="md-plain" > BEREEALTREBAINIS, #1’E731t|:u§515’]1§@§h%3‘% </span
</span> </td></tr> <tr class="md-end-block" cid="n49" mdtype="table row"><td><span c
ass="td-span" cid="n50" mdtype="table cell"> <span md-inline="code" spellcheck="false" >
code>ObJect push(Object element)</code> </span></span> </td> <td> <span class="td-spa
" cid="n51" mdtype="table cell"><span md-inline="plain" class="md-plain">3EBIUENHEI%
ZB. </span></span></td></tr><tr class="md-end-block" cid="n52" mdtype="table_row">
td> <span class="td-span" cid="n53" mdtype="table cell"><span md-inline="code" spellche
k="false"><code>int search(Object element)</code> </span> </span></td> <td> <span clas
="td-span” cid="n54" mdtype="table cell"><span md-inline="plain" class="md-plain">iX[g]
STEWHRTPHINIE, L1 AEE, </span></span></td></tr></tbody> </table> < /figure>

%*Egarchﬁiitbﬁﬁﬁ, REINZZITRINUE, BEMNI TR, XNAEEE TR FRER
5/Y:

public synchronized int search(Object o) {
int i = lastindexOf(o);

if (i >=0) {

return size() - i;

}

return -1;
}
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